© 2020. This manuscript version is made available under the CC-BY-NC-ND 4.0 license http://creativecommons.org/licenses/
by-nc-nd/4.0/

O 00 N O Ul B WN B

O e S T O o T Y
O 00 N O Ul B WN R O

20
21
22
23
24
25
26

27
28
29
30
31

32
33
34

35
36
37
38
39
40

Post-print version: Lizasoain-Arteaga, E., Indacoechea-Vega, I., Alonso, B., Castro-Fresno, D., 2020. Influence
of traffic delay produced during maintenance activities on the life cycle assessment of a road. J. Clean. Prod. 253,
120050. https://doi.org/https://doi.org/10.1016/j.jclepro.2020.120050

Title

Influence of traffic delay produced during maintenance activities on the Life Cycle Assessment of a road

Authors

Lizasoain-Arteaga, Esther'*; Indacoechea-Vega, Irune!; Alonso, Borja?; Castro-Fresno, Daniel

Affiliations
1GITECO Research Group, Universidad de Cantabria, Av. de los Castros 44, 39005, Santander, Spain
2GIST Research Group, Universidad de Cantabria, Av. de los Castros 44, 39005, Santand pain

Email addresses

lizasoaine@unican.es (E. Lizasoain-Arteaga); indacoecheai@unican.es (I. Ind

alonsobo@unican.es (B. Alonso); castrod@unican.es (D. Castro-Fresno)

*Corresponding author. Tel +34942203943; Fax: +3494220170 ,
Total words 6855

Abstract

This paper analyses the relevance of the tra generated during the A-8 Spanish Motorway

A

maintenance activities in order to, makeecomme s for inclusion within the LCA of roads. Six

congestion scenarios combining th&el ice of tf otorway and the alternative N-634 route have

been evaluated using two softwar ckages: CP (macro-simulation) and Aimsun (micro-simulation),

whose results have been tran 0 emissions using MOVES. After performing the LCA considering a

functional unit of a 1-km lane sis period of 30 years, results show the huge importance of this

stage in all the scenati

Keywords \

Life ¢ es CA); Congestion; Asphalt pavement; Road works; Traffic simulation
1.

Introduction

Transport infrastructures play a very important role in the social and economic development of regions, but
they also generate several environmental impacts throughout their life cycle due to the high consumption of

energy and natural resources.

Life Cycle Assessment (LCA), a standardized method for measuring and comparing the potential
environmental impact produced during the manufacture, use and disposal of a product has been applied
several times to quantify the impact generated by roads. Hakkinen and Méakela (1996) and Horvath and
Hendrickson (1998), among others, performed this kind of analysis to compare the impact generated by
concrete and asphalt mixtures. Years later, Mroueh et al. (2000) used this methodology to determine the
benefits of adding industrial by-products (such as coal ash or blast furnace slags) to the pavement structure.


mailto:lizasoaine@unican.es
mailto:indacoecheai@unican.es
mailto:alonsobo@unican.es
mailto:castrod@unican.es

41
42
43
44
45

46
47
48
49
50

51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71

72
73
74
75
76
77
78

79
80

81
82
83

More recently, Lizasoain-Arteaga et al. (2019) evaluated the benefits of using induction-healing treatment
as an alternative to the conventional mill and overlay maintenance technique. However, despite this
background, applying LCA to pavements is still at an immature stage (Yu and Lu, 2012) since some road
life phases cannot be totally considered in the analysis due to the existence of gaps in the knowledge and

lack of guidelines and methodologies which ease their inclusion.

Commonly, five stages are defined when talking about the life cycle of a road: material production,
construction, use (which includes leaching, rolling resistance, albedo and lighting), maintenance (which
considers traffic delay in addition to the replacement of the layers) and end of life. Nevertheless, according
to Inyim et al. (2016), only 27% of studies consider all of these phases, traffic delay being analysed in only
7 of the 42 research articles reviewed by Santero et al. (2011), Trupia (2018) and Anthonissen et al. (2016).

The importance of maintenance-related traffic delay in the total environmental impact pro@teed by roads
has been analysed by some authors achieving different results depending on the road traffic valufne, its
hourly traffic distribution and the closure schedule (Santero et al., 2010). Results can als@,be influenced by
the traffic model selected to calculate the queue during congestion. Micro-simulation medelsyare based on
predicting the individual behaviour of vehicles, which requires a lot informatiofyfor its, calibration and a long
time for running the simulation. On the other hand, macro-simulation models,analyse the traffic on a section
by section basis (Trupia, 2018), needing less information but als@bging less acclirate. In this regard, Yu and
Lu (2012) performed an LCA to calculate the energy consumptien and Global Warming Potential generated
by three overlay systems. After analysing the whole life cycle,.cengestion (which was calculated with a
macro-simulation model) was one of the most important stages; its felevance increasing as traffic volume
did. Galatioto et al. (2015) studied the influence ofgtraffiéydelay on atmospheric emissions when applying
different management options (three overnight lang closures, two 12-hour closures and a 24-hour closure)
in a UK inter-urban road. In this case, a mick@-simulatignsmodel was used and, despite the fact that the extra
emissions produced by congestion wetke founddte,be relatively small, they were big enough to be included in
the calculation. Moreover, Kim et al. (2018) evaluated the fuel consumption and greenhouse gas emissions
produced by two types of roadsga freeway and a multilane road) when two different work zones situations
and three congestion levels are takeqjint@yaccount. Results showed an emissions increase of around 85%
under heavily congestediwork zones when default drive schedules were applied. Therefore, it can be inferred
from these studiésythiat Systematically ignoring the impact produced by congestion during the maintenance
and rehabilitatiop, iIntegventions can bring about a lack of accuracy in the LCA results, especially in highly

trafficked roads.

This paper-aims toymake recommendations about when and how to consider traffic delay in the LCA of a
road to fostéer its evaluation within the total analysis. To achieve this goal, the environmental impact produced
by maintenance-related congestion was analysed taking into account three different service levels of the
motorway itself and an alternative route. Then, these results were compared to the total environmental
impact of the road to calculate the relevance of traffic delay and to determine the possibility of simplifying
the model without losing precision. Furthermore, two traffic simulation models (micro- and macro-simulation)

were applied to check the sensitivity of the LCA when varying the accuracy of the traffic results.
2. Methodology
2.1. Case study definition

Making recommendations implies the analysis of a wide range of situations from which to draw conclusions.
In this research, which tries to evaluate the relevance of the environmental impact produced by the
congestion caused during road maintenance, aspects such as the Annual Average Daily Traffic (AADT), the



84
85
86
87
88
89
90

91
92
93
94
95

96
97

98
99
100
101
102

103

104

105
106
107
108

existence of alternative routes, the geometry of the road or the traffic characteristics (percentage of heavy
traffic and hourly distribution) can greatly affect the results. However, analysing the effect of all these
variables would result in an unmanageable number of case studies. Therefore, the concept of level of service
(LOS) was introduced instead, since it determines the quality of the traffic flow based on the aforementioned
aspects. The Highway Capacity Manual (National Research Council (U.S.). Transportation Research Board.,
2010) defines 6 LOS designated with letters, from A to F, where A describes a free-flow traffic with users

unaffected by the presence of others and F represents a totally congested road.

A stretch located between the Kilometric Points 175 and 176 of the A-8 Spanish Motorway with an AADT of
41,026 vehicles, which connects the main cities on the north coast, was selected for analysis (see Figure
1). This section has an alternative route, namely the N-634 National Road (AADT of 12,151), running parallel
to the Motorway. Therefore, when a queue is created in the Motorway due to the closure of ne, a certain
percentage of vehicles can be deviated onto the National Road. o h

km stretch of ea

whole network.

Table 1. Scenarios analysed.

A-8 AADT N-634 AADT

Scenario  A-8LOS  N-634L0S (vehicles/day) (vehicles/day)

1 A A 21,166 2,562
2 B A 54,980 2,562
3 B B 54,980 8,196
4 C A 78,985 2,562
5 C B 78,985 8,196
6 C C 78,985 14,543

The characteristics of the roads (Table 2) provided by the Spanish Ministry of Public Works (Ministerio de
Fomento, 2017) were used to calculate the AADT of both roads depending on the given LOS for each
scenario (Table 1). However, the peak-hour factor, type of terrain, driver factor and peak-hour direction

proportion factor were assumed.



109

110

111
112
113
114
115
116
117
118
119

120
121

Table 2. Road characteristics.

Road characteristics A-8 N-634
Free-Flow speed (km/h) 120 72
Average speed (km/h) 104 63
Heavy vehicles (%) 9.75 2.66
Recreational vehicles (%) 0 0
Peak-hour factor 0.95 0.88
Type of terrain Level Level
Driver population factor 1 1
Peak-hour AADT proportion (k) 7.02 7.02
Peak-hour direction proportion (R) 0.5 0.5

The calculations were made following the Highway Capacity Manual (NationaljRes .S)).
Transportation Research Board., 2010). This Manual defines the maximum seryi different
LOS and types of roads in optimal conditions (3.60 m lane width, only light vehi¢les, levekterrain and usual

specific LOS depends on the road density and also on the free-flo
while on the N-634 (a rural type Ill road which passes thro S tourist villages), it depends on the

percentage of Free-Flow Speed (PFFS). As a representative ‘poi e'median AADT of the LOS chosen
before (Table 1) was selected.
A
140
120 9 : .
3
‘-E- 100
=3
E 80 DS S L
2 LOSA - LOSB." LOSC:" LOS D, LOSE .o
2z 60 F—
2 : i Rt
- e :
g 40 e
= o
20 : :
0 500 1000 1500 2000 2500

AADT (light vehicles/hour /lane)

——FFS 120km/h —— FFS 112km/h FFS 105km/h FFS 96km/h —— FFS 90km/h

Figure 2. AADT LOS A-8. Real conditions.



122
123

124

125
126

127
128
129
130
131
132
133
134

135
136
137
138
139
140
141
142
143
144

145
146
147
148

100

80

60

40

20

Percent free-flow speed (PFFS)

o YA Vs ¥

0 400 800 1200 1600
AADT (light vehicles/hour /lane) \
———FF$ 105 km/h ——FFS 97 km/h FFS 89 km/h FFS 80 km/h ——FFS72 km/h

2
Figure 3. AADT LOS N-634. Real conditions. \\

2.2, Traffic software employed

As mentioned before, two traffic simulation software packages ( 0 ar&nicr ere used in this paper to
calculate the congestion produced by traffic delay during road' maintenance.

The Kentucky Highway User Cost Program v1.0 (Ky
software, programmed in Excel following the Highw
roadwork to be calculated based on the AADT,
closed during construction. However, it ha
possibility of having an alternative route
Considering the design of the road ork used
km queue was detected (Erke
Gentile, 2019).

On the other hand,
needs to be creat nd

behaviour. In t re ,

with real traffic data to ensure that the model replicates the vehicles’ real
from traffic stations of the Spanish Ministry of Public Works and of the

S ms“Research Group of the University of Cantabria were employed. Then, the origin-
s modified to fit the AADT to the one previously defined for each scenario.
Neverth hange in the number of vehicles could affect the travel time associated with the different
es, thus affecting the path selected by every vehicle simulated and consequently the results.
To avoid this, for each scenario, vehicles were forced to follow the original trajectories and again, during the
maintenance stage, 30% of the vehicles were deviated to the National route as is expected to occur during
real traffic congestion.

The traffic strategy taken into account during the maintenance work was defined following the Spanish 8.3-
IC Standard for roadwork signposting (Ministerio de Fomento, 1989). As shown in Figure 4, when closing a
road lane the adjacent lane width is reduced by 0.30 m to create a security zone, reducing the speed from
120 km/h to 80 km/h gradually.



149
150

151

152

153
154
155
156
157
158
159
160
161

162
163
164
165
166
167
168

169

X,
O

0OO®A

8 88 88
o : ™~ n: <
hi S & 33
~ NN ~P N
L | i i
a aian aia
™ i i M
%
80 km/h <J:
\‘
Figure 4.Maintenance strategy diagram.

' 4

a pollutant emission model, the

2.3. Emission model calibration

For the evaluation of the environmental impact, as KyUCP do
EPA’s Motor Vehicle Emission Simulator (MOVES) was » its wide acceptance by the scientific

Model (Int Panis et al., 2006) is already incorpore e software to calculate the pollutant emissions

produced by the simulated traffic. Tﬁno provides emissions for 4 pollutants (Carbon Dioxide, COz;
Nitrogen Oxides, NOx; Volatile Organié,C s, VOCyParticulate Matter, PM) based on each vehicle’s
instantaneous speed and acceleration and distinguishing between different types of vehicles and fuels.

However, due to the limited nun ollutants addressed by the Panis Model, the integration of MOVES

in Aimsun was proposed in th

To define the most re or this analysis, the emissions produced by 100 vehicles driving at a

constant speed ( 1-km lane were calculated with MOVES considering the age and fuel
consumed by theyreg ent vehicle census (Direccion General de Trafico, 2017). A basic LCA was

the emissions obtained to determine their importance within the different impact categories

e methodology. The contaminants selected for the calculation were CO2, CO, NOX,
CHa, Cs C and PMzs. According to the results (Table 3), the emissions of VOC and CH4 could

while still guaranteeing the accuracy of the environmental assessment.

Table 3. Contribution of the pollutants to the LCA impact categories.

Impact / Pollutant CO2 CcO NOx CHa CeHs NH3 VOC PMz25
Climate change 100%

Freshwater ecotoxicity 100%

Human toxicity 100%

Marine ecotoxicity 100%

Marine eutrophication 38% 5%

Particulate matter formation 76% 6% 12%

Photochemical oxidant

) 0
formation 33% 61%



170

171
172
173
174
175
176
177
178
179
180
181

182
183
184
185
186
187

188
189
190
191
192

193

194
195
196
197
198
199
200

201

Terrestrial acidification 76% 18%

Terrestrial ecotoxicity 100%

Concerning MOVES, within the calculation options offered, it is possible to define on-road activity by using
individual vehicle trajectories obtained by traffic micro-simulation. However, due to the high number of
records per vehicle in the scenarios evaluated in this paper and the difficulties in handling them (more than
15 million), this option was discarded and the integration of the MOVES emission model in Aimsun was
preferred. Thus, the Panis model (Int Panis et al., 2006), integrated in Aimsun, was recalibrated to fit the
MOVES emission model. It should be noted that the emission rates in MOVES are linked to 23 operating
modes for running, which combine speed and the vehicle specific power (VSP), as well as other operating
modes for idling, braking, hotelling, among others. The VSP, which can be calculated with eg. (1) (Jiménez-
Palacios, 1999), gives an indication of the amount of energy demanded by the engine dufing ritining, and
combines multiple physical factors that influence the vehicle’s consumption and emissions such, as vehicle

speed vn(t), acceleration an(t) or load parameters (Koupal et al., 2003).

Considering this, new traffic simulations were carried out in Aimsun (100 vehicles in a 1-km lane) by
introducing several traffic light timings, which resulted in different vehiclejacceleration and deceleration
patterns. In total, more than 30,000 trajectories were recorded in Aiisun'g'database. With the instantaneous
speeds and accelerations from the 30,000 trajectories and withstheir VSP determined through eq. (1), it was
possible to distribute each trajectory into the operation modes‘preposed i MOVES and therefore calculate
the emissions related to each trajectory.

Then, trajectory speeds vn(t), accelerations an(t)land ‘€missions were correlated according to the Panis
function eq. (2) (Int Panis et al., 2006). For this, a fitkegression model was used with Minitab 17 Statistical
Software to determine Eo and f1 to fe.his methodology Was applied for the two types of vehicles considered
in this paper (passenger cars and single unit long:haul trucks) and the six pollutants mentioned above. The

results are presented in Table 4.

VSP = v, X [1.1as+ 9.81grade (%)% 0.132] + 0.000302v,,3 1)
Emission (t) = max [By, f1 T86va@FF f3v,()% + f2a,(t) + fsan()? + fevn(t)an ()] 2

In order to @btainda better correlation, the emission function of certain pollutants was fitted twice, for
acceleration trajectories (an(t) 2 — 0.5 m/s?) and deceleration trajectories (an(t) < — 0.5 m/s?), thus resulting
in different vallies for Eo and f1 to fs (see Table 4). As the need of splitting the model into two functions was
already observed in Int Panis et al. (2006), the emission model available in Aimsun already contemplates
the possibility to insert different factors for an(t) = — 0.5 m/s2 and an(t) <- 0.5 m/s2. In Figure 5, the
correspondence between the CO2 emissions calculated by distributing the trajectories in operation modes
(MOVES) and by using the “recalibrated” Panis Function is shown.

Table 4. Calibrated factors for the Panis equation.

Pollutant Type of vehicle E, f, f, f; f, fs fe
CO, Car 8.70E-01 8.44E-01 8.82E-02 2.72E-03 2.23E+00 -8.13E-01 2.29E-01
Truck 2.53E+00 2.24E+00 9.61E-01 6.93E-03 1.04E+00 -2.58E+00 2.99E+00

CO cara=>-0.5m/s? 0.00E+00 1.39E-02 3.56E-04 1.50E-05 -5.66E-02 -2.44E-03 1.74E-02
Carsa<-0.5m/s? 0.00E+00 1.00E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Truck -2.58E-02 1.51E-02 6.46E-03 -9.01E-05 -1.58E-02 -6.03E-03 1.45E-02



NOx Cara>-0.5m/s? 9.00E-04 -6.87E-04 2.15E-04 5.00E-06 4.78E-03 -1.72E-03 6.56E-04
Cara <-0.5m/s? 9.00E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Truck a>-0.5m/s? 0.00E+00 4.21E-02 1.85E-03 3.05E-04 1.79E-02 -4.03E-02 2.29E-02
Truck a <-0.5m/s? 0.00E+00 2.00E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
CeHs Car 1.78E-05 1.58E-05 1.88E-07 2.50E-08 2.29E-06 -6.93E-06 5.60E-06
Trucka>-0.5m/s? 0.00E+00 1.88E-05 1.79E-05 -5.50E-07 1.08E-04 557E-05 4.90E-06
Truck a<-0.5m/s?* 0.00E+00 3.80E-05 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
NH; Cara>-0.5m/s? 0.00E+00 6.16E-05 -3.70E-06 4.75E-07 4.39E-05 -3.49E-05 1.07E-05
Cara<-0.5m/s? 0.00E+00 7.20E-05 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Trucka>-0.5m/s? 0.00E+00 1.14E-04 -1.68E-06 4.80E-07 1.06E-05 4.66E-06 -3.90E-07
Truck a<-0.5m/s? 0.00E+00 1.67E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
PMys Caraz>-0.5m/s? 3.65E-05 3.23E-05 2.79E-06 7.51E-08 -1.48E-03 3.7 1.74E-04
Cara <-0.5m/s? 3.65E-05 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00 0.00E+00
Trucka>-0.5m/s? 0.00E+00 1.28E-03 3.25E-04 -1.53E-06 -6.95E-04
Trucka<-0.5m/s?* 0.00E+00 9.15E-04 0.00E+00 0.00E+00 0.00I:QOO

202 {
18 y N

=: ’

% 14 y’ , \‘ N

= N

3 C

2 12 - L~

& N 3 v

E ’ ‘ ) b //

g 8 A \L -

3 ) =

g 6 7y

= . J

3 4 \N f L ;;

= R ) A )

O -

© 2 a 4

0 y _ [N N
0 2 4 6 8 10 12

203 €O, (g), MOVES
204 Figure 5. CorreSpondence between the CO, emissions calculated with MOVES’ emission rates (horizontal axis)
205 and the “Recalibrated” Panis Function (vertical axis).
206 2.

207 The relevance for the environment of the traffic delay produced during road maintenance for different LOS
208 was evaluated by means of the LCA methodology following the standards ISO 14040:2006 (ISO, 2006a)
209 and 14044:2006 (ISO, 2006b).

210 For the assessment, a 1-km lane of the Spanish A-8 Motorway and an analysis period of 30 years was
211 considered as a functional unit. Regarding the pavement thickness, it depends on the heavy traffic category
212 (defined by the Annual Average Daily Truck Traffic, AADTT) of the road according to the Spanish Standard
213 6.1-IC (Ministerio de Fomento., 2003) concerning pavement sections. Based on this document, two
214 pavement sections were analysed in this paper, a T1 traffic category (800 < AADTT <2,000) that corresponds
215 to the “A” LOS and a TO (2,000 < AADTT <4,000) traffic category that corresponds to the “B” and “C” LOS
216 (Figure 6).



217
218

219
220
221
222
223

224
225

226

227

228
229
230
231
232
233
234
235
236

Wearing course

Binder layer
Binder layer
Base layer 21 em
Sl
TO pavement section T1 pavement section

Figure 6. Pavement sections.

Normally, when comparing two roads in which the only difference is the wearing course, the model is
simplified analysing only the distinctive aspects (Chiu et al., 2008) (Jullien et al., 2006). However, in those
scenarios where the differences are present in all the structure or a detailed analysis is n , the whole
pavement should be studied. Therefore, this research considers both approaches in analysis of the
relevance of the traffic delay in environmental assessment. ®

Quiza, 2016).

The characteristics of the asphalt mixtures considered for each asphalt layer CQ in§fable 5 (Moral

Table 5. Asphalt mixture definition.

Details Base layer
Type of mixture AC 22
Coarse and fine aggregates (% wt.) 92.2
Bitumen (% wt.) 4.6 3.8
Filler (% wt.) 6 4
Mixture density (kg/m?3) 2,357 2,371

The LCA was performed taking int@yaccount 6)stages of the road life (Figure 7): material production,
construction, maintenance, conges leaching and end-of-life, which are more extensively explained in a
previous research where the i is also detailed (Lizasoain-Arteaga et al., 2019). However, unlike

in that work, instea It (PA), here an asphalt concrete (AC) layer is being considered for
the wearing course, rding to EAPA (2007) and Nicholls et al. (2010), has a life expectancy of
about 15 years, he maintenance schedule shown in Table 6 was proposed. Furthermore,
the values shown in Lizasoain-Arteaga et al.(2019) for the conventional asphalt

e AC layer is a dense asphalt mixture and, therefore, impermeable, only the wearing



237
238

239

240

241
242
243
244
245
246

247

248
249
250

251

Production Stage (A1-A3) Maintenance (B2)

Milling

Bitumen
production

Asphalt
mixture
L | production

e e - il g H
1 LAt \'I E 1
Congestion (62°): " 21 [ milling
(Environmental impact :: =]
. produced by thewhole | = ':
Rolling network when dosing a I o i
1-kmlane)— (Impact of l:

X 1
the network in normal !
conditions) s1 1"

s -

Natural
aggregate
extraction

Recovery centre

* Module added to the original UNE-EN 15804:2012 dlassification

Figure 7. LCA boundaries.

Table 6. Maintenance schedule

Year 0 15 30

Wearing course, d
overl

Activity Section construction Final*milling of the section

Regarding the transformation into impacts of the reso % emissions detected during the inventory
od was used. This method enables the

n a single environmental problem, into endpoint
impacts which have the benefit of ¢ i he midpoint impacts to calculate the damage to
the three areas of protection (dam to humal

resource availability) (RIVM, 2016).

ealth, damage to ecosystem diversity and damage to

3. Results

Once the micro- ation were performed for the 6 scenarios considering a length of 15-km for
d th

closing 1 km of a¥ead uring 24 hours due to maintenance activities (Table 7).

both the motorwa tional road, the following queues have been detected on the motorway when

Table 7.Traffic queue length (km).

Hour S1 S2 & S3 S4 & S5 & S6
Macro Micro Macro Micro Macro Micro
1 0.0 0.0 0.0 0.0 0.0 0.0
2 0.0 0.0 0.0 0.0 0.0 0.0
3 0.0 0.0 0.0 0.0 0.0 0.0
4 0.0 0.0 0.0 0.0 0.0 0.0
5 0.0 0.0 0.0 0.0 0.0 0.0
6 0.0 0.0 0.0 0.0 0.0 0.0
7 0.0 0.0 0.0 0.0 0.0 0.0
8 0.0 0.0 0.1 0.1 1.2 0.3
9 0.0 0.0 0.6 0.1 2.8 0.9
10

0.0 0.0 1.4 0.1 3.6 0.9




252

253
254
255
256
257
258
259

260
261
262
263
264
265
266
267
268

269
270
271
272

273
274
275

11 0.0 0.0 11 0.1
12 0.0 0.0 0.3 0.1
13 0.0 0.0 0.1 0.1
14 0.0 0.0 0.3 0.1
15 0.0 0.0 0.8 0.1
16 0.0 0.0 1.4 0.1
17 0.0 0.0 1.0 0.1
18 0.0 0.0 0.2 0.1
19 0.0 0.0 0.5 0.1
20 0.0 0.0 1.3 0.1
21 0.0 0.0 0.7 0.0
22 0.0 0.0 0.0 0.0
23 0.0 0.0 0.0 0.0
24 0.0 0.0 0.0 0.0

(Table 7). In this scenario (S1), around 740 vehicles arrive at th
and the capacity of a single lane (1587 light vehicles p

Transportation Research Board., 2010))) is enough to ab

emand. Furthermore, no speed

variation is produced thorough the day in the different se ad (Figure 8), vehicles only adapting

to the speed limits fixed for the roadworks.

In scenarios 2 and 3, in which the A-8 Motorway pr “B” LOS, a slight reduction in the vehicle speed

is observed during the most traffick (8a.m. — .) in the micro-simulation model (Figure 8). This

decrease is more relevant in the section before the roadwork (P.K. 174-175) since vehicles travelling in the
right lane have to find a gap in the i ange lanes. This traffic manoeuvre creates a small bottle
neck that is not big enough to ewdri change their trajectory and therefore, the National Road (N-634)
is not affected by ion. ontrary, KyUCP software does not consider intermediate velocities
between 104 k ed) and 8 km/h (congested speed) and as a consequence, bigger

queues are calcul . under this approach 2,498 vehicles change their route to avoid the motorway

congestion.

en the Highway presents a “B” LOS are transformed into bigger ones when the AADT

ense, in scenarios 4, 5 and 6 (C LOS) the macro-simulation model calculates queues of

Figure 8 also shows that the rerouted vehicles are easily absorbed on the National Road with only 7% speed
reduction when it originally has an “A” LOS. The disruption worsen when the traffic flow quality decreases,

producing almost 60% speed reduction in the most trafficked hours when scenario 6 (C LOS) is considered.



276
277

278
279
280
281
282
283
284
285
286
287
288

289

A-8 K.P. 175-176 (roadwork) A-8 K.P. 174-175
100 120

oo s-o-9 _ 2—n e 2
80 \hs._‘——-——a—ﬁ—ﬁ-.—-—ﬁ—-::::ﬁzp‘ 100 R W

£ 60 %
é = 60
g 3
@ 2 40
& &
20 20
0 0
0 2 4 6 8 10 12 14 16 18 20 22 24 0 2 4 6 8 10 12 14 16 18 20 22 24
Hour Hour
A-8 K.P. 173-174 N-634
120 80
e /*—_A__'__. O —=
B> e ks ——— 70

g
.

60

=
g% T s0
£ =
= 60 - 40
5 2
@ o
g 40 230
4 20
20 10
0 o
0 2 4 6 8 10 12 14 16 18 20 22 24 0 2
Hour
—+—ALOS —+—BLOS CLOS -e-ALOS +rerouted vehicles B LOS + rerouted ve

Figure 8. Aimsun average speed

In view of this speed reduction on the alternative route, it cou that deviating cars from the A-8
Motorway to the N-634 road when the latter presents a hi c imply a transfer of the traffic problem

from one road to the other, the overall network b ngested. That is why the traffic network

performance was evaluated by using the Networ opic Fundamental Diagram (NMFD) (Geroliminis

and Daganzo, 2008). The NMFD }-Sbce idely ref d in several studies as a useful tool to measure
and evaluate the overall state of a traffi Alonsotet al., 2019; Sirmatel and Geroliminis, 2018; Wu
et al., 2011; Yildirimoglu et al., 201 hus, Fi 9 shows the estimated network fundamental diagram for

scenario 6 comparing the nety

rmance when both 30% traffic divergence and no traffic strategy

s expected, traffic conditions worsen as demand increases.
stable when the traffic management strategy is followed, it reaches

" . -:'-.'i-.li'lll_'

0 20 40 60 80 100 120 140
Average Density (veh/km/lane)

» S6-Traffic rerouting = S6-Do nothing



290
291

292
293
294
295
296
297
298

299
300
301
302
303
304
305
306
307
308
309

310
311

312

313
314

315

Figure 9. Network Fundamental Diagram comparing scenario 6 with traffic management strategy (30% rerouting)

and “do nothing” case

Speed variation and queue creation affect the emissions generated by vehicles. The emissions produced by
traffic during the maintenance activities can be seen in Table 8 and Table 9 for the macro- and micro-
simulation, respectively. These quantities have been calculated by subtracting the pollution generated in
normal conditions from the emissions produced during the roadworks. Therefore, the macro-simulation
results are the same for scenario 2 and 3 and also for 4, 5 and 6. As the only difference among them is the
number of vehicles that originally travel via the N-634 and no variation in the speed due to the increment in

the number of vehicles is being considered, the differences disappear when performing the subtraction.

Figure 10 (Lizasoain-Arteaga et al., 2019) shows the relationship between vehicle emissiori§yand speed. For
the same distance travelled, the maximum emissions are obtained when vehicles drive at 8 km/Ri(congestion
speed). This amount is reduced as speed increases until around 100 km/h is réached;'Whenythe ‘minimum
emission factor is produced. However, this tendency is not followed for NHs since,theyminimum €mission is
generated at 50 km/h. This explains the results in Table 8. For instance, reducingthe speed from 104 km/h
to 80 km/h in scenario 1 implies an increase in almost all the emissions analysed except for the NHa.
Moreover, when similar queues are predicted, the differences between the roadwork and normal traffic
conditions is greater in the micro-simulation since the program enables & certainlevel of adaptability of the
vehicles’ speed to the traffic conditions, which in scenario 1, 2 afid 3 iIsimore detrimental for the environment.
This situation changes in the other scenarios due to the_muchmlonger queues calculated with the macro-
simulation model (the longer the queue length, the more emissien isg@@enerated).

Table 8. Macro-simulation environmental emission§yresultsi(calculated by subtracting the pollution generated in

normal conditions from the emissions produced during the roadworks).

Scenario  CO:2 (Kg) CO (Kg) NOx (Kg)  CsHs (KQ) NHs (Kg) PMzs (Kg) Energy (MJ)
1.63E+02 8.95E-01 5.00E-01 3.02E-03 -6.16E-03 1.93E-02 2.21E+03
1.04E+04 8.87E+01  3.08E+01 1.60E-01 3.33E-01 1.23E+00 1.41E+05
1.04E+04 8.87E+01  3.08E+01 1.60E-01 3.33E-01 1.23E+00 1.41E+05
1.22E+05 1.03E+03 3.65E+02 1.88E+00 4.25E+00 1.47E+01 1.66E+06
1.22E+05 1.03E+03  3.65E+02 1.88E+00 4.25E+00 1.47E+01 1.66E+06
1.22E+05 1.03E+03 3.65E+02 1.88E+00 4.25E+00 1.47E+01 1.66E+06

o 0o~ W N

Table 9. Micre-simulation environmental emissions results (calculated by subtracting the pollution generated in

normal conditions from the emissions produced during the roadworks).

Scenario “CO2 (Kg) CO (Kg) NOx (Kg)  CesHs (KQ) NHs (Kg) PMzs (Kg) Energy (MJ)
3.79E+03  4.03E+01 1.05E+01 6.27E-02 -5.02E-02 1.89E+00 5.18E+04
1.04E+04 1.14E+02 2.53E+01 1.83E-01 -1.30E-01  5.14E+00 1.42E+05
1.17E+04 1.20E+02  3.72E+01 1.87E-01 -1.16E-01 5.53E+00 1.60E+05
3.88E+04  3.65E+02 1.84E+02 8.35E-01 3.92E-01 1.88E+01  5.30E+05
4.00E+04  3.74E+02 1.92E+02 8.54E-01 4.11E-01 1.93E+01 5.46E+05
4.15E+04  3.91E+02  2.05E+02 9.28E-01 5.21E-01 2.13E+01  5.66E+05

o O~ W N




316
317

318
319
320
321
322
323

324
325
326
327
328
329
330
331
332

333
334
335
336
337
338

339
340
341
342
343

100% |
90% \
80%
70%
60%
50%
40%

% of the emissions

30%

20%
10% 4

0% \
0 20 40 60 80 100 120 140

Speed (km/h) \
—o— C02 —u—CO NOx C6HB6 — = =NH3 = « -=PM2.5
9

Figure 10. Relationship between vehicle emissions and speed ((Liza

arios and two simulation
(WC) and the whole
pavement section (PS) is shown in Table 10. Here, the impa u y congestion and by the rest of

The environmental impact produced by the 1-km lane defined al or t%ix
methods (micro and macro) when considering the life cycle earing co

the life cycle stages have been considered separately t ppreciate the relevance of the former within

the LCA analysis. Furthermore, the contribution of he three endpoint impacts can be seen in

Figure 11, Figure 12 and Figure 13.

Results show that the traffic disrup%jnu mainten activities is significant in nearly all the situations
ex

analysed, its relevance increasing en ith the nimber of vehicles. When only the wearing course
is analysed, congestion means b en 0.4% 11% in scenario 1, which corresponds to an “A” LOS,
around 22% regarding “B” LO S3) and more than 52% as far as “C” LOS is concerned (S4, S5

ant even when the whole pavement section is taken into account,

accounting for more and 21% respectively in the three LOS analysed. It is only negligible

(<1%) in scenario hen KyUCP software is used. Moreover, results are very similar when comparing

the three impactsy congestion affecting ecosystem diversity slightly more than human health or resource

Further orway LOS is more relevant for the LCA results than the LOS of the National Road.
When thefAADT of the N-634 is increased from an “A” LOS to a “C” LOS, the contribution of congestion

grows less than 2%. However, applying this same concept to the A-8 Motorway it results in an increase of
more than 43% and 76% in the traffic delay contribution when the micro- and macro- simulations are used,
respectively, in the LCA for the wearing course, and 18% and 44% when the results are referred to the whole

pavement.

The dissimilarity between the simulations models (micro and macro) changes with the AADT of the
Motorway, the most similar results being produced when the A-8 has a “B” LOS. Actually, 9% grater impacts
are obtained with the micro-simulation approach in scenario 1, decreasing to 2% in scenario 2 and 3.
Nevertheless, contrasting results are found thereafter with 22% greater impacts for the macro-simulation in

scenarios 4, 5 and 6.



344
345
346
347
348
349
350
351

352
353
354
355
356

357

358
359

To check the consistency of these results, the LCA was recalculated using the CML 2001 (January 2016
update) characterization method which considers different hypothesis and impacts categories to ReCiPe to
evaluate the damage that emissions produce in the environment (PE International, 2014). To achieve a
single score for each scenario analysed, impacts were normalized using the European Union 2000 impacts
and the weights defined in (Lizasoain-Arteaga et al., 2019) were applied, producing the results shown in
Figure 14. With this new method, similar results were obtained. In fact, the only variation between CML and
ReCiPe characterization methods is that, using the former, the influence of congestion is slightly smaller
(around 10%) when the wearing course is being analysed.

The results achieved in this paper are in line with the main conclusions reached by previous authors such
as Yu and Lu (2012), Galatioto et al.(2015) and Kim et al.(2018) regarding the importance of traffic delay
and the exponential relationship between emissions and number of vehicles. However, t ifferences in
the referent unit, scope, system boundaries or even goal of the papers makes n SSI a_direct
comparison of the results.

Table 10. Environmental impact results for the six scenarios, two approaches and t imul n models used.
Damage to Human Health  Damage to Ecosystem to Resource
[DALY] Diversity [Species.yr] vailability [$]
SAMIOU Congesion | AMIU chgesiong! SR congesion
S1 WC Micro  7.18E-02 7.56E-03 3.21E-04 .01E 2.07E+03 2.24E+02
Macro  7.18E-02 3.11E-04 3.21E-0 . 6 2.07E+03 9.56E+00
PS Micro  2.46E-01 7.56E-03 1.12E- 5 7.19E+03 2.24E+02

Macro  2.46E-01 3.11E-04

S2 WC Micro  7.18E-02 2.05E-02
Macro  7.18E-02

PS Micro 2.87E-01
Macro 2.87E-01

S3 WC Micro  7.18E-02

2E-06 7.19E+03 9.56E+00
1.10E-04 2.07E+03 6.13E+02
1.10E-04 2.07E+03 6.10E+02
1.10E-04 8.40E+03 6.13E+02
OE-03 1.10E-04 8.40E+03 6.10E+02
3.21E-04 1.24E-04 2.07E+03 6.91E+02

Macro  7.18E-02 3.21E-04 1.10E-04 2.07E+03 6.10E+02

PS Micro 1.30E-03 1.24E-04 8.40E+03 6.91E+02
Macro 1.30E-03 1.10E-04 8.40E+03 6.10E+02

S4 WC Micro 8.17E-02 3.21E-04 4.11E-04 2.07E+03 2.29E+03

2.33E-01 3.21E-04 1.29E-03 2.07E+03 7.18E+03

-01 8.17E-02 1.30E-03 4.11E-04 8.40E+03 2.29E+03
.87E-01 2.33E-01 1.30E-03 1.29E-03 8.40E+03 7.18E+03
S5 WC Wicro  7.18E-02 8.44E-02 3.21E-04 4.23E-04 2.07E+03 2.36E+03
Macro  7.18E-02 2.33E-01 3.21E-04 1.29E-03 2.07E+03 7.18E+03

PS Micro  2.87E-01 8.44E-02 1.30E-03 4.23E-04 8.40E+03 2.36E+03
Macro  2.87E-01 2.33E-01 1.30E-03 1.29E-03 8.40E+03 7.18E+03

S6 WC Micro  7.18E-02 8.81E-02 3.21E-04 4.39E-04 2.07E+03 2.45E+03
Macro  7.18E-02 2.33E-01 3.21E-04 1.29E-03 2.07E+03 7.18E+03

PS Micro  2.87E-01 8.81E-02 1.30E-03 4.39E-04 8.40E+03 2.45E+03
Macro  2.87E-01 2.33E-01 1.30E-03 1.29E-03 8.40E+03 7.18E+03




Macro I
Micro I —
Macro I
Micro I
Macro I
Micro I —
Macro I
Micro I
Macro I
Micro I —
Macro NN e
Micro
Macro I

wc PS WwWC PS WC PSS WC PS WC

51 S2 S3 5S4
B LCA without congestion  m Congestion
360
361 Figure 11. Congestion contribution to the “Damage to Human
100% Qo &
90% <
80%
70%
60%
50%
40%
30%
20%
10%
0%
°oop cpogooopopoo
S g ofc 666 G0bLGSLGbLoob
s Ss¢ SR EREFERER

PS WC PS WC PS

Qb 52 s3 54 S5 S6
B LCA without congestion  m Congestion

362

363 v . Congestion contribution to the “Damage to Ecosystem Diversity” impact.

364



365
366

367

368
369

370
371

372
373
374

375
376

377
378

100%
90%
80%
70%
60%
50%
40%
30%
20%
10%

0%

Micro
Micro I
Micro I
Macro I
Micro | —
Macro I—

Micro I —
Macro IN———
Micro I —

Macro Imm———

Micro | —

Macro I
Micro I
Mro |

wc PS WC PS WC PSS WC PSS WC PS WC

S1 S2 S3 54 S5 hd S \

100%
90%
80%
70%
60%
50%
40%
30%

e

o

=

B LCA without congestion  m Congestion
20%

10%
0%

A4 P
|
Macro I
Macro I
Micro I
Macro I

Micro
Micro

ol
\ \ WC PSS  WC PS
’ s5 56
B LCA without congestion  m Congestion
Figv ion of congestion to the LCA results calculated with the CML 2001 Jan 16 Characterization

Method.

4, Conclusions

In this study the influence of the traffic delay produced during the maintenance of a highway on its total LCA
has been evaluated by comparing the queue length, emissions and environmental impacts calculated using

two traffic simulation approaches (micro and macro).

After analysing 6 scenarios which combine 3 LOS for the A-8 Motorway and the N-634 (the alternative route),

the following recommendations can be made:

e Macro-simulation should be used only for rough calculations or for preliminary analysis since it
underestimates the emissions when the highway presents an “A” LOS and overestimates the queue



379
380
381
382
383
384
385
386
387
388
389
390
391
392
393
394
395
396
397
398

399
400

401
402

403

404
405
406
407
408
409
410
411
412
413
414
415
416
417
418
419
420
421

length when a “C” LOS is analysed even when 30% demand deviation is taken into account. Results
calculated by both approaches are only similar when a “B” LOS is studied. It should be noted that
the micro-simulation model was calibrated using speed-occupacy and speed-flow relations of
different detectors placed in the studied section to reflect the real user behaviour in terms of car-
following, lane usage and lane changing decisions. On the contrary, the macroscopic approach is
based on aggregated and average values and does not reflect the traffic dynamics and
collaborative behaviour between drivers.

e The congestion stage should always be included in the LCA of a road when the maintenance
schedule involves closing the lane for more than 24 hours, except for preliminary analysis of roads
in which an “A” LOS is observed during its peak-hour. Traffic delay produced during a lane closure
has been demonstrated to be relevant even when the whole asphalt pavement seétionis taken into
account. However, as is obvious, its contribution is smaller than when only the wea course is
considered. ®

e Alternative routes should be included in the traffic analysis. Altho ei DT®does not

significantly affect the LCA results (maximum 2% variation) their e i uld result in an
overestimation of the congestion and the real behaviour of drive

model.
e At least the following 6 pollutants are recommended ons@rati within the calculations in
order to achieve good accuracy in the LCA result 2, , NOx, CHz, CsHs, NH3, VOC and

PMz2s. :

Acknowledgements

This work was funded by the docto tudentship prog from the University of Cantabria, co-financed by
the Government of Cantabria.

References

one, C., Vitetta, A., 2019. Effects of traffic control regulation on
tal Diagram: a statistical analysis of real data. Transp. Res. Par A

, W., Braet, J., 2016. Review and environmental impact assessment of
ies for base courses in bituminous pavements. Environ. Impact Assess. Rev. 60,

rehabilitating asphalt pavements. Resour. Conserv. Recycl. 52, 545-556.

https://doi.org/https://doi.org/10.1016/j.resconrec.2007.07.001

Direccion General de Trafico, 2017. Parque de vehiculos. Anuario.

EAPA, 2007. Long-Life Asphalt Pavements. Technical version.

Erke, A., Sagberg, F., Hagman, R., 2007. Effects of route guidance variable message signs (VMS) on
driver behaviour. Transp. Res. Part F Traffic Psychol. Behav. 10, 447—-457.
https://doi.org/https://doi.org/10.1016/).trf.2007.03.003

Galatioto, F., Huang, Y., Parry, T., Bird, R., Bell, M., 2015. Traffic modelling in system boundary expansion
of road pavement life cycle assessment. Transp. Res. Part D Transp. Environ. 36, 65-75.
https://doi.org/https://doi.org/10.1016/j.trd.2015.02.007

Geroliminis, N., Daganzo, C.F., 2008. Existence of urban-scale macroscopic fundamental diagrams: Some



422
423
424
425
426
427
428
429
430
431
432
433
434
435
436
437
438
439
440
441
442
443
444
445
446
447
448
449
450
451
452
453
454
455
456
457
458
459
460
461
462
463
464
465
466

experimental findings. Transp. Res. Part B Methodol. 42, 759-770.
https://doi.org/https://doi.org/10.1016/j.trb.2008.02.002

Hakkinen, T., Makela, K., 1996. Environmental adaption of concrete. Environmental impact of concrete
and asphalt pavements. VTT Tied. - Valt. Tek. Tutkimusk.

Horvath, A., Hendrickson, C., 1998. Comparison of Environmental Implications of Asphalt and Steel-
Reinforced Concrete Pavements. Transp. Res. Rec. J. Transp. Res. Board 1626, 105-113.
https://doi.org/10.3141/1626-13

Int Panis, L., Broekx, S., Liu, R., 2006. Modelling instantaneous traffic emission and the influence of traffic
speed limits. Sci. Total Environ. 371, 270-285.
https://doi.org/https://doi.org/10.1016/j.scitotenv.2006.08.017

Inyim, P., Pereyra, J., Bienvenu, M., Mostafavi, A., 2016. Environmental assessment of palement
infrastructure: A systematic review. J. Environ. Manage. 176, 128-138.
https://doi.org/https://doi.org/10.1016/j.jenvman.2016.03.042

ISO, 2006a. ISO 14040: Environmental Managemen - Life Cycle Assessment - Principlestand Framework,
2 end. International Organization for Standarization.

ISO, 2006b. ISO 14044: Environmental Management - Life Cycle AssessmentyRequirements and
Guidelines, 1 edn. International Organization for Standarization.

Jiménez-Palacios, J.L., 1999. Understanding and quantifying motef Vehigle emissions with vehicle specific
power and TILDAS remote sensing. PhD dissertation. Massachusetts Instituté of Technology,
Cambridge, Mass.

Jullien, A., Monéron, P., Quaranta, G., Gaillard, D., 2006. Air emissi@ns from pavement layers composed
of varying rates of reclaimed asphalt. Resouri’Censen.. Recycl. 47, 356—-374.
https://doi.org/https://doi.org/10.1016/j.resconkec.2005.09.004

Kim, C., Ostovar, M., Butt A, A., Hasvey J,@% 2018. FuelF€onsumption and Greenhouse Gas Emissions
from On-Road Vehicles on Highway Censtruction Wark Zones. Int. Conf. Transp. Dev. 2018,
Proceedings. https://doi.org/deii10.1061/9480784481561.028

Knoop, V., Hoogendoorn, S., yvamzuylen, H., 2010. Rerouting behaviour of travellers under exceptional
traffic conditions — an empiricaanalysis of route choice. Procedia Eng. 3, 113-128.
https://doi.org/10:1016/jyproengt2010.07.012

Koo, R., Yim, Y., 1998. Cammutes Response to Traffic Information on an Incident. Transp. Res. Rec.
1621, 36-42. https://doiiorg/10.3141/1621-05

Koupal, J., Cumberwerth, M., Michaels, H., Beardsley, M., Brzezinski, D., 2003. Design and
Implementation of MOVES: EPAis New Generation Mobile Source Emission Model.

Kucharski, R-; Gentile, G., 2019. Simulation of rerouting phenomena in Dynamic Traffic Assignment with
the Information Comply Model. Transp. Res. Part B Methodol. 126, 414-441.
https://doi.org/https://doi.org/10.1016/j.trb.2018.12.001

Lizasoain-Arteaga, E., Indacoechea-Vega, |., Pascual-Mufioz, P., Castro-Fresno, D., 2019. Environmental
impact assessment of induction-healed asphalt mixtures. J. Clean. Prod. 208, 1546—1556.
https://doi.org/https://doi.org/10.1016/}.jclepro.2018.10.223

Ministerio de Fomento., 2003. Norma 6.1-IC. Secciones de firme.

Ministerio de Fomento, 2017. Mapas de trafico WWW Document]. URL
https://www.fomento.gob.es/carreteras/trafico-velocidades-y-accidentes-mapa-estimacion-y-
evolucion/mapas-de-trafico/2017

Ministerio de Fomento, 1989. Norma de carreteras 8.3-IC. Sefializacion de obras.

Moral Quiza, A., 2016. La herramienta ambiental Analisis del Ciclo de Vida en el estudio de secciones de



467
468
469
470
471
472
473
474
475
476
477
478
479
480
481
482
483
484
485
486
487
488
489
490
491
492
493

firme.

Mroueh, U.M., Eskola, P., Laine-Ylijoki, J., Wellman, K., Mékel&, E., Juvankoski, M., 2000. Life cycle
assessment of road construction. Finnra Reports 17/2000.

National Research Council (U.S.). Transportation Research Board., 2010. HCM 2010 : highway capacity
manual.

Nicholls, J.., Carswell, I., Thomas, C., Sexton, B., 2010. Durability of thin asphalt surfacing systems. Part
4: Final report after nine years’ monitoring. 674 TRL Rep.

PE International, 2014. Best Practice LCA: Impact Assessment.

RIVM, 2016. ReCiPe 2016 V1.1.

Santero, N., Masanet, E., Horvath, A., 2010. Life Cycle Assessment of Pavements: A Critical Review of
Existing Literature and Research. https://doi.org/10.2172/985846

Santero, N.J., Masanet, E., Horvath, A., 2011. Life-cycle assessment of pavements. Part I: al review.
Resour. Conserv. Recycl. 55, 801-809. ®
https://doi.org/https://doi.org/10.1016/j.resconrec.2011.03.010

Sirmatel, I.l., Geroliminis, N., 2018. Economic Model Predictive Control of LargesScale an'Road
Networks via Perimeter Control and Regional Route Guidance. IE . Il. Transp. Syst. 19,

1112-1121. https://doi.org/10.1109/TITS.2017.2716541
Trupia, L., 2018. System Boundary Expansion in Road Paveme e eA sment. University of

Nottingham.
Wu, X., Liu, H.X., Geroliminis, N., 2011. An empirical analysi rterfal fundamental diagram. Transp.

Res. Part B Methodol. 45, 255-266. https://doi.or( i¥@r9/10.1016/j.trb.2010.06.003

ontrol of heterogeneous large-scale

Part B Methodological. https:ﬁor . j.tB6*2018.10.007
Yu, B., Lu, Q., 2012. Life cycle assessmen ethodology and case study. Transp. Res. Part
D Transp. Environ. 17, 380—388. https://d@itorg/https://doi.org/10.1016/j.trd.2012.03.004

&



